// *******************************************************************
// MathOperations4.java By: Aiman Hanna (C) 1993 - 2016
// This program illustrates constants and their significance.
// In specific, the program does not show how constants can be 
// created or used; rather why they are needed. 
//
// Key Points: 
// 
1) Why are constant needed? 
// *******************************************************************
public class MathOperations4 {

public static void main(String[] args) {

// Given an amount of investment and number of investment years

// this function will calculate the profit of this investment

// The calculation is based on a fixed valued of interest rate 

// You should notice:

//

1) The number of occurrences of the value 0.0625

//

2) The typing error (.00625)

//

3) What happen if the interest rate changes; for 

// 

example to 0.635? How many changes are needed? How 

// 

can the changes be performed; i.e. search and 

// 

replace?




double profit, principle; 


int numOfYears = 5;


principle = 1000; 




numOfYears = 5;
// Calculate profit after the given number of years
System.out.println("This program will calculate the profit of an investment, given a principle amount,\nnumber of years and an interest rate.");


System.out.println("All the following calculations are based on an interest rate of: " +  0.0625 + ".");
System.out.println("This interest rate (" +  0.0625 + ") will not be changed through the entire investment period.");
System.out.println("If bank rate goes above " +  0.0625 + ", you will be notified and must take action to change your investment.");
System.out.println("Not taking an action will result in your rate to continue as " +  0.0625 + ".\n");
System.out.println("Below are your investment details:\n"); 
profit = principle * 0.0625 * numOfYears;
System.out.println("The profit after " +  numOfYears + " years is: " + profit + "$.");
// Now increase the number of investment years and recalculate the
// profit
numOfYears = numOfYears + 3;
// increase number of years by 3 
profit = principle * 0.00625 * numOfYears;// Notice the typing error 
System.out.println("The profit after " +  numOfYears + " years is: " + profit + "$.");
}
}
/* The Output
This program will calculate the profit of an investment, given a principle amount,
number of years and an interest rate.
All the following calculations are based on an interest rate of: 0.0625.
This interest rate (0.0625) will not be changed through the entire investment period.
If bank rate goes above 0.0625, you will be notified and must take action to change your investment.
Not taking an action will result in your rate to continue as 0.0625.
Below are your investment details:
The profit after 5 years is: 312.5$.
The profit after 8 years is: 50.0$.
*/ 
